PART LIST
TWO ADULTS NEEDED FOR ASSEMBLY

TP FOLE
I T

Step 1:

Slep 2
Step 3.

Step 4:

=

Assembly Instructions
Assemble the bollom pole #5 to the base #3 and tighten with bolt #6 . Attach bolt #3 and

lighten it.
Assemble the basket #2 1o the top of bottom pole with bolt #5 .
Insert the top pole #4 to the top of boltom pole #5 and tighten with bolt #7 and . Attach
bolt #9 and tighten it.
Cross the round ring al the bottom of top #1 to the pole #4 and tighten the top #1 to pole
with bolt #6 .Attach boll #9 and tighten il
Then you can starl to play now.
Assembly Instructions




